2025 730 AEERERABER B

[:tha T 4 B8 IE 7 0T 4 135
35 NG 73 1307 | STTANRESFREINT | 45
ohr | INF I/ NIRRT | 67 1ARE | iR Ly BT 44
3fF TE T 63 14437 Ye = Iy 44
ART R P T 59 1607 | ) IHT 42
BAL | —ZRiH/INERHT | 56 1747 Z2 T 40
617 MUZELTE 55 18{i7 JRRASHT 37
(s an R AT 54 1967 | JUAHESFHT | 36
WL | ARHESFHT 54 20117 =) 28
9fT A% T 52 2107 | = SCEHT 18
10437 o PEHT 50 2201 [y FH W] 14
167 | FE R 48 23f P A W] 0
1207 | ERFRZRIRHT | 46
ARL—VL — -3 &
23r NG
3ir i Ve T
ANSESYN ) 03 = SN
23r % BT
3L INA TN T
el F UL — 1B 15 WZKHT (A)
(&) 23L MUZEL
331 FEETEHT (A)
Wi TV — WZKHET (B)
(B+) 23L YT (A)
35 = 2R/ INEEHT (B)




